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	Level
	Skill
	Subskill
	Item #

	1
	A 
	Moderate 
	ES 1: The Universe 
	SPI 0607.6.1 Components of Universe [99086]
	U55802

	2
	C 
	Easy 
	ES 1: The Universe 
	SPI 0607.6.1 Components of Universe [99086]
	D64239

	3
	C 
	Easy 
	ES 1: The Universe 
	SPI 0607.6.1 Components of Universe [99086]
	D88931

	4
	C 
	Hard 
	ES 1: The Universe 
	SPI 0607.6.1 Components of Universe [99086]
	D102980

	5
	D 
	Moderate 
	ES 1: The Universe 
	SPI 0607.6.1 Components of Universe [99086]
	D88939

	6
	B 
	Moderate 
	ES 1: The Universe 
	SPI 0607.6.2 Distance and Appearance [99087]
	D110632

	7
	B 
	Easy 
	ES 1: The Universe 
	SPI 0607.6.1 Components of Universe [99086]
	D102974

	8
	C 
	Moderate 
	ES 1: The Universe 
	SPI 0607.6.1 Components of Universe [99086]
	U55801

	9
	C 
	Easy 
	ES 1: The Universe 
	SPI 0607.6.2 Distance and Appearance [99087]
	D110631

	10
	A 
	Easy 
	ES 1: The Universe 
	SPI 0607.6.1 Components of Universe [99086]
	D102976

	11
	A 
	Hard 
	ES 1: The Universe 
	SPI 0607.6.2 Distance and Appearance [99087]
	D110634

	12
	B 
	Moderate 
	ES 1: The Universe 
	SPI 0607.6.1 Components of Universe [99086]
	D88933

	13
	D 
	Moderate 
	ES 1: The Universe 
	SPI 0607.6.2 Distance and Appearance [99087]
	D110633

	14
	B 
	Moderate 
	ES 1: The Universe 
	SPI 0607.6.1 Components of Universe [99086]
	U55868

	15
	B 
	Moderate 
	ES 1: The Universe 
	SPI 0607.6.1 Components of Universe [99086]
	D88761
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	Question 1 of 15

	Which is a characteristic of asteroids? 
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	A.
	Asteroids have a thick atmosphere. 

	[image: image2.wmf]
	B.
	Asteroids are made rock and minerals. 
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	C.
	Asteroids have moons. 
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	D.
	Asteroids rotate around the Sun. 

	


	Question 2 of 15

	Which of the following has billions of galaxies?
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	A.
	the Milky Way

	[image: image6.wmf]
	B.
	the Sun

	[image: image7.wmf]
	C.
	the universe
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	D.
	the light-year

	


	Question 3 of 15

	Space technologies have become integrated into our everyday lives. Among them include ______.
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	A.
	telescopes

	[image: image10.wmf]
	B.
	telemarketing

	[image: image11.wmf]
	C.
	telecommunications

	[image: image12.wmf]
	D.
	Television


	


	Question 4 of 15

	A ____________ is a loop of plasma extending from the Sun's surface.
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	A.
	sunspot

	[image: image14.wmf]
	B.
	radiation drop
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	C.
	prominence

	[image: image16.wmf]
	D.
	chromosphere

	


	Question 5 of 15

	The point in the Earth's orbit at which daylight hours are at their greatest or fewest is called ______.
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	A.
	an equinox

	[image: image18.wmf]
	B.
	an eclipse
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	C.
	a nebula

	[image: image20.wmf]
	D.
	a solstice

	


	Question 6 of 15

	The Moon and the Sun can eclipse each other from the viewpoint of observers on Earth. This is because they appear to be the same size in the sky. 

Which sentence explains this?
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	A.
	The Moon and the Sun are exactly the same size, shape, and distance from Earth.
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	B.
	Although the Sun is much larger than the Moon, it is also much farther away from Earth.
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	C.
	The light that comes from the Moon has the same source as light that comes from the Sun.
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	D.
	The Sun and the Moon revolve around Earth at about the same speed.


	


	Question 7 of 15

	Which of the following is a true statement about the Sun?
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	A.
	The Sun is a very large star.
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	B.
	The Sun is a medium sized star.
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	C.
	The Sun is a very small star.
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	D.
	The Sun will become a supernova.

	


	Question 8 of 15

	Where is the asteroid belt located in the solar system? 
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	A.
	It is located between Mercury and the Sun. 
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	B.
	Orbiting around Neptune and Pluto. 
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	C.
	It is located between Mars and Jupiter. 
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	D.
	Orbiting between Earth and Venus. 

	


	Question 9 of 15

	Janice flew her kite overhead. She saw an airplane disappear behind the kite, which looked much larger than the airplane. 

Why did the kite look larger than an airplane?
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	A.
	The kite was much heavier than the airplane.

	[image: image34.wmf]
	B.
	The kite was much longer than the airplane.
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	C.
	The kite was much closer than the airplane.
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	D.
	The kite was much lighter than the airplane.


	


	Question 10 of 15

	The layer that makes up the surface of the Sun is called the ___________________.
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	A.
	photosphere
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	B.
	lithosphere
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	C.
	atmosphere
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	D.
	stratosphere

	


	Question 11 of 15

	On a clear night, it may be possible to see Venus, Mars, Jupiter, or Saturn. 

To the unaided eye, these planets appear as points of light, but none of their moons can be seen without a telescope. 

Why is it that the planets can be easily seen, but their moons cannot?
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	A.
	The moons are too small.
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	B.
	The moons are too hot.
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	C.
	The moons are too fast.
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	D.
	The moons are too careful.

	


	Question 12 of 15

	Which type of galaxy is the Milky Way?
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	A.
	a Barred galaxy

	[image: image46.wmf]
	B.
	a Spiral galaxy
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	C.
	an Irregular galaxy
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	D.
	an Elliptical galaxy

	


	Question 13 of 15

	Which thing is incredibly large, but cannot be seen without a telescope because it is so far away?
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	A.
	the Sun

	[image: image50.wmf]
	B.
	a meteorite
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	C.
	the Moon
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	D.
	a galaxy

	


	Question 14 of 15

	The arrow in the diagram of our solar system shown below is pointing to the location where many rock bodies orbit the sun between Mars and Jupiter. 

[image: image53.png]



These rock bodies are called ________ 
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	A.
	comets. 
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	B.
	asteroids. 
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	C.
	meteors. 

	[image: image57.wmf]
	D.
	planets. 


	


	Question 15 of 15

	The Sun will eventually become a ______.
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	A.
	red giant
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	B.
	white dwarf
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	C.
	supernova

	[image: image61.wmf]
	D.
	nebula
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